
FRAME OPTIONAL



3

2

10



3,5x38 x2

x1

M4x18 x1

FU8x50 x2

4,5x60 x2

x1

3,5x9,5 x1

5,3x9,5x1 x2

x1

x1

x1 x1x1

x1

ø8 mm

ø3 mm

3

H2O
CLEANIT

OR
WATER ONLY

Cleanit

فقط الماء أو كلينيت



4

X mm

1

2

X mm

ACRYLIC

CERAMIC

CONCRETE



5

3

4

OK NO

X- 20 mm

NO

M4x18 x1

3,5x38 x2



6

A

B

5

6

NO

94
4 

m
m

A

B
47



7

7

8



8

9

10

4,5x60 x2

FU8x50 x2

ø8 mm

5,3x9,5x1 x2



9

3,5x9,5 x1x1

ø3 mm

11

12

NO OK



3,5x38 x2

x1

M4x8 x1

FU8x50 x2

4,5x60 x2

x1

3,5x9,5 x1

5,3x9,5x1 x2

x1

x1

x1 x1x1

x1

x1

ø8 mm

ø3 mm

H2O
CLEANIT

OR
WATER ONLY

Cleanit

10



11

CERAMICACRYLIC

CONCRETE

X mm

X mm

1

2



12

X- 20 mm

NO

3,5x38 x2

M4x8 x1

OK NO

3

4



13

A

B

NO

99
3 

m
m

AB
1,5 mm

5

6



14

7

8



15

4,5x60 x2

FU8x50 x2

ø8 mm

5,3x9,5x1 x2

9

10



16

11

12

3,5x9,5 x1x1

ø3 mm

NO OK



Note:



Note:



Note:



60092KFF_03 (07 2021)


